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SN EHAYD
M FHEA WA
Sl SEXENSY MM CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 42,000
01 QI2tXE8 X 60,000 194,800 A 134,800
OLF=22 & SHO0IE XM
5,000,000& * 12 60,000
= 18,000
= 42,000
220 2,005,407 2,624,962 A 619,555
2 400,000
< 120,000
= 1,485,407
S3 &l 2,005,407 2,624,962 A 619,555
2 400,000
= 120,000
= 1,485,407
Staal 22 2 435,734 123,737 311,997
101 2124 H] 81,311 32,376 48,935
04 JI2ZtHIZ22NEE S 81,311 32,376 48,935
Ostaaze 23 22 34,308
—J=22 38,880 * 8% x 100 31,104
—AEE = 31,104,000 = 0.103 3,204
OSSN ZE 23 AN 47,003
—-J|23 38,880& * 4% x 240 37,325
—5422H 38,8803 * 49 x 34¢ 5,288
—4UEEg=2 42,612,480 = 0.103 4,390
201 2Et24A Y| 51,563 51,563 0
01 AP 22| d| 35,090 35,090 0
Ogt4=2H| 3,600
— AL M)t EL LS
300,0008  2& 600
— U2l === 1,000,000 * 2& 2,000
— k22 MOI|EH| HI|IH A 1,000,000 1,000
Oexz 29,650
— Hd4D|UHYl Ols3t&A X}
8,000,000& = 1A + 2€ 16,000
— SEAE EHE SUVRHE 2Rt
950,000& » 12& 11,400
— 212 MolE? ANHFUAIF(HE S)
450,0008 * HhL 2,250
Oo29sd 840
— SIS EBSRRAJG BFALE
70,000 = 3¥ x 43| 840
O] 1,000
—SISAMENAHET A 24|
5,0008 = 20¥ = 103 1,000




SN FHAYD
Bu: AN
el ZRFY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 2324l 16,473 16,473 0
Oz&2= & HA 9,000
—2dA= =2 ML= S
1,500,000& * 6 9,000
OA&EHl s Xl 3,000
—YAT Y AR NEE SABE
3,000,000& 3,000
OXtg & et 4,473
- ZABAR VYRBU(ZSR)
1,789 = 104 * 250 4,473
202 odl 6,480 6,480 0
01 = LH 4 1l 6,480 6,480 0
DAY AREX
20,000& = 92 * 39 » 123 6,480
203 YR =2l 1,800 1,500 300
03 AIMZFA AR ZAY| 1,800 1,500 300
OZ2dze g8 180,000& * 102l 1,800
401 Al HI K 201 I 294,580 31,818 262,762
01 A& HI 294,580 31,818 262,762
O&LHESHHI 24,580
—AECIEHE SNEXHE 9
10,000,000& * 14 10,000
—J Stz /RANES+S AL
270,000,000& = 5.40% 14,580
OAIZHl 160,000
—JIEdS&2 RIS 4,000,000& * 5km 20,000
—ZE ANES 23 2 24
2,000,000& * 1000 A& 20,000
— SEANEEZTM(HIRUI MESE)
10,000,000& * 24l 20,000
— SN g Z=HA LAY
10,000& = 10,0002 100,000
Osta et A E=HH(180,000m )
20,000, 000& 20,000
Ostaat A AM AAAH (180,000 )
90,000, 000& 90,000
SASE 22 741,096 683, 131 57,965
101 @14 Hl 44,603 37,131 7,472
04 JIZHHZ22XREES 44,603 37,131 7,472
O=EZA S TASE 22 25,731
— Q24 H| 38,880& * 6 = 100 23,328
— 428 = 23,328,000& = 0.103 2,403
O=sts&d el 13,725
— QI 38,880& * 1989 » 280 10,887
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SN FHAYD
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& SEFH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—52Z2fxE 38,8803 * 1% = 40 1,556
— 428 = 12,441,600& = 0.103 1,282
OdgXle Helolsd &glog 5,147
— QI 24 H| 38,880& * 198 » 120 4,666
—42E= 4,665,600& *0.103 481
201 Let2d] 29,900 29,900 0
01 At 22l 3,000 3,000 0
OgBt==&H| 3,000
— 3228 BFH € 2357 1,500,000& 1,500
— S 2A2E8 Fdl=d 300,000& = 53l 1,500
02 =224l 26,900 26,900 0
02323 % HAl 20,400
— 233 HMIIe= 1,200,000& » 12&8 14,400
—GUAETIREXN IS
500,000& = 123 6,000
Od =zl 1,500
—0FI S 300,000& * 53 1,500
OA&EHl s Xl 5,000
—SANSEUH 272 ANEE B
5,000,000& 5,000
401 Al HIZ 201 Y| 664,993 615,000 49,993
01 A& HI 664,993 615,000 49,993
O&g 233& 29U ArsX 89,993
— &2 2aS¥ 29U AIRX e
35,500& = 2,535m 89,993
Ogs HOtBE &MY AL OH 500,000
— YA HOISR MY AR L
500,000,000 * 14l 500,000
OZAN3E RANE=> 30,000, 000& 30,000
OZANZSE HEAE=S &1
3,000,000& = 50 A 15,000
OZANSd 33 &Y 30,000
— 23RS 7L FFHA (WS, #5)
10,000& = 3,000=2 30,000
405 XtAHE SHI 1,600 1,100 500
01 AR ESFH S 1,600 1,100 500
Oz3&el&8 WA s Fd 7 1,600
— Ol 5 Dl 300,000& = 2CH 600
—JIAS 500,000& = 2CH 1,000
SE=EE 22 28,577 18,094 10,483
101 @14 Hl 8,577 8,094 483
04 DIt Z2XRHEE S 8,577 8,094 483




SH: FedE D
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OtEFSAIE 2el 8,577
— QI 38,8803 * 2% = 1002 7,776
—4U2E=2 7,776,000& = 0.103 801
401 AIEHI L 2 CHYI 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OdE=E2Z LAEE UM B+
10,000,000 10,000
Odd = S4Z2 Fl 10,000, 000& 10,000
NI MHHsetd xd 800,000 1,800,000 A 1,000,000
= 400,000
< 120,000
fia 280,000
401 Al HI X SO 800,000 1,800,000 A 1,000,000
& 400,000
< 120,000
[ia 280,000
01 A& HI 797,000 1,795,000 A998, 000
Ostadt s ey &4 797,000, 000& 797,000
= 398,500
< 119,550
[ia 278,950
03 AlE =TI 3,000 5,000 A 2,000
Oztaet Hased 4o 3,000,000& 3,000
& 1,500
< 450
s 1,050
MHE R LE=EY 11,241,400 9,176,742 2,064,658
= 3,331,065
= 715,446
=2 7,906
< 1,019,954
s 6,167,029
MEES 3,799,479 2,814,631 984,848
= 1,157,882
=2 7,906
< 251,887
[ia 2,381,804
At E s (AHA) 1,093,966 987,264 106,702
101 @124l 693,368 687,846 5,522
04 JIZHHZ2Z 2RSS E+ 693,368 687,846 5,522
OlEZ A 683,360
— oIl 40,840 * 718 x 2102 608,925
—4dHEE= 608,924,000& = 0.103 62,720
— Il =l 165,000& * 719 11,715
O&EEH EHIDI&Y 10,008
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SH: FedE D
Ha: NN BHSY
el MBS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—i®F 1,000,000& » 1iS® 1,000
-2 500,000& = 20HS™ 1,000
—&d 300,000& * 50H5¢ 1,500
308 XtXIEHH SOl A 171,182 192,338 221,156
05 HXHHMAURE S 171,182 192,338 N 21,156
Oggxere= 167,250, 000& 167,250
Ot=dstelsd s o Hot 3,932,000& 3,932
401 AIEHI L 2CHYI 100,000 0 100,000
01 A&l 100,000 0 100,000
O&=LloH= MIAHA 100,000
— &0t ZIHAF 2,500,000& * 20ha 50,000
— &0t AR X+ 2,500,000& = 20ha 50,000
405 XtatE SHI 51,500 42,400 9,100
01 XA = ZFH SHI 51,500 42,400 9,100
O&lsE JAS, WHI 7 3,900
— &g JIAHS 500,000& * 6CH 3,000
—&EsE olFO| 300,000& = 3CH 900
OMETSHE FL(DYERI S)
10,000,000& 10,000
OME2ZA=A P (EX)
6,500,000& * 200 A& 13,000
Osd d4=2R4= WA
2,500,000 = 14 » 201 S™ 5,000
OR&I 7 500,000& = 10CH 5,000
Q=LA OIEXE S28 &&5)| 7L
730,000& * 20CH 14,600
MNEHLXHH(BEX) 662,216 676,787 A 14,571
= 260,886
< 116,761
e 284,569
101 @124 dl 338,491 408,697 AT0,206
= 135,396
< 60,290
e 142,805
4 JI2ZtHZ22HEE = 338,491 408,697 AT0,206
Ot=dZu Y 338,491
— oIy 42,000& * 453 = 1502 283,500
= 113,400
< 50,393
[ia 119,707
—X2&Y 50,000& * 4.5% = 53 1,125
= 450
< 202
s 473
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SHEH FU(SEEZ, 23 )
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SN A
HE: MYXRSHFY
CHe: MBS (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= T.044
& 605
= 1,411
206 M = dl 675 450 225
= 270
& 122
= 283
01 X2 4l 675 450 225
OdSIXE A32H 2L 4,500& * 1504 675
2 270
& 122
= 283
401 AlEH 2 2 0hl 172,740 172,740 0
= 69,096
o= 31,093
= 72,551
01 Al& H| 172,740 172,740
Odt28tX 0|32 ALY
4,246,660& * 3ha 12,740
= 5,096
& 2,293
= 5,351
O4tE RoIZAIDI0I e & X (10HA)
160,000, 000& 160,000
= 64,000
= 28,800
= 67,200
405 XHA&HF S HI 86,000 56,400 29,600
= 30,400
& 13,680
= 41,920
01 XA 2 FF S| 86,000 56,400 29,600
O2&J| Ql(=sd) 800,000& 504 4,000
= 1,600
& 720
iy 1,680
OJIHE AMEXRSAIAEH(AH)
3,500,000& = 1CH 3,500
= 1,400
& 630
iy 1,470
OJIAH s MSoHEAAE(SE)
8,500,000& ~ 1CH 8,500
= 3,400
o= 1,530
iy 3,570
Ol 3ext (0 258) 60,000,000 60,000
= 20,000
= 9,000




SH: FedE D
Ha: NN BHSY
el MBS CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
31,000
ORPHEAEH (ZSHIIX=Z)
10,000,000& ~ 1CH 10,000
= 4,000
= 1,800
= 4,200
Ar2lHM S 2 A (XA 630,683 0 630,683
101 Q121 H] 98,361 0 98,361
04 JI2ZtHIZ22NEE S 98,361 0 98,361
OAUSLMHMEE=S SHHICSH(1IHE) 98,361
— oAy 61,500 * 290 * 59 89,175
—AEE = 89,175,000 = 0.103 9,186
201 et | 4,072 0 4,072
02 B232%H| 4,072 0 4,072
OAl&E ZHI KX Y| 4,072
—AUBHESEYN SEHOIHSS)
2,036& * 500 « 4Al2F = 100 4,072
206 M EHl 28,250 0 28,250
01 =4l 28,250 0 28,250
OALLRMAEsY XY 28,250
—HEAUSHA(ZH) 9,020& = 2,0004 18,040
—L=2H(EER) 10,210€® = 1,0000H 10,210
401 AlEHIZL £ 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OAUSMEEY 2E= 232 H ALY (10,000
=) 500,000
— 22 (DAZ2)HA 50,000 = 10,000= 500,000
Ateleigl s 2HH X/ (EX) 1,209,447 924,376 285,071
= 819,953
& 115,416
o 274,078
101 @1 214| 278,058 236,052 42,006
= 151,150
= 36,945
= 89,963
04 JIZtHIZ22NSESES 278,058 236,052 42,006
OatelHEali =0l 2t 2 HISH(3IHEH)
217,452,000 217,452
= 108,726
o=} 31,490
= 77,236
OLAUBMAESES DA=E IT 84X A
60,606,000 60,606
2 42,424
o=} 5,455
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12,727

201 Lt 41,700 23,430 18,270
20,850
6,039
14,811
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01 AFR 22l ] 37,200 18,930 18,270
Ogxz 37,200
—MEENHE WELHME XtE 37,200,000 37,200
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13,213
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4,500
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206 M= Hl 47,829 52,795 N4,966
39,340
2,458
6,031

Mo H

01 M= dl 47,829 52,795 N4,966
SYH M+ (600ha)

30,850,000& 30,850
30,850
OaURHEsE &M M2 16,979,000 16,979
8,490
2,458
6,031

O
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0
p=|
rx
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H

MW

401 AIEBIZ 2 CHYI 829,460 519,840 309,620
603,207
67,876
168,377

HoH W

01 A& HI 824,267 516,487 307,780

OLURTHHESH 2 A A (100ha /17,5002 )
824,267,000& 824,267

603,207
67,876
163,184

5,193 3,353 1,840
FHIAR 5,193,000& 5,193

M A
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B~ x
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0 &
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s
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5,000 6,000 A 1,000
1,706

988
2,306

MW

02 2I2HTH & AL HI 5,000 6,000 A 1,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OAUSME=EY & Z2E Ml (600ha)
5,000,000 5,000
= 1,706
& 988
= 2,306
405 XHAHFEIEHI 7,400 86,259 A T78,859
= 3,700
& 1,110
= 2,590
01 XAt 2 E F S| 7,400 86,259 NT78,859
OAURMESEY S THAIEZMFI FL
2,200,000& = 2CH 4,400
= 2,200
& 660
= 1,540
OJIAHE & sH2EZD] 2 750,000 * 404 3,000
= 1,500
= 450
= 1,050
B354 HUl AL 74,760 70,358 4,402
= 7,906
o= 4,302
= 62,552
101 e1214| 4,440 2,038 2,402
04 J|12ZtHIZ22NEES 4,440 2,038 2,402
OBESs4 gHoE 74,0008 « 3% x 20 4,440
206 M = Hl 2,000 0 2,000
01 X2 H| 2,000 0 2,000
OB 4 M M7 20,000 = 100" 2,000
401 Al HI L £ 0HHI 68,320 68,320 0
=2 7,906
& 4,302
= 56,112
01 Al& H| 68,320 68,320 0
OBS4 ZHAS (169HA) 68,320,000 68,320
= 7,906
& 4,302
= 56,112
A HHIAS A 55,952 155,846 A 99,894
= 33,570
== 6,713
= 15,669
101 Q124 H| 55,952 150,846 N 94,894
= 33,570
= 6,713
= 15,669
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04 DIt 22 XS+ 55,952 150,846 N 94,894
x

H 55,0562
t 13,988,000& = 29H 27,976
16,785
3,357
7,834
—SAN=sXHeE 13,988,000& = 1H 13,988
8,392
1,678
3,918
— & W=3CUolH 13,988,000& » 1H 13,988
8,393
1,678
3,917

HHn A H A

M A

METHHZ2LIHE 72,455 0 72,455
43,473
8,695
20,287

Mo

101 1Al 67,455 0 67,455
40,893
8,179
18,383

HH

04012t 22 S
OdEMHZUE

67,455 0 67,455
el (69) 67,455,000 67,455

40,893
8,179
18,383

TR

p

MW

N
2
e
s
M0
02
[

5,000 0 5,000
2,580

516
1,904

RURL Y

,300 0 2,300
,300

,300

,380
276
644

,700 0 2,700
700,000& 700
2,000
2,000,000& 2,000

1,200
240
560

dEE22N A2F P& 2,300,000
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,089,300

ZIHRIIALE X & 2,877,228
1,606,207
362,065
908,956

3,262,218 A 384,990

Mo A

)
e
e
=
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= 1,410
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OEDTHEHAIE (400 &) 28,160,000& 28,160
= 14,080
< 7,040
[ia 7,040
OUHIOIQIHA AIS (FLUBJAILE)
4,700,000& * 1CH 4,700
= 2,350
= 705
[ia 1,645
AP AMHIA S22 FHI 478,722 78,751 399,971
= 239,375
< 71,804
e 167,543
401 Al HIZ 201 8I 478,722 78,751 399,971
=2 239,375
< 71,804
e 167,543
01 A& HI 478,722 78,751 399,971
Ostad AEC/HO Sd2 2L (M2
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—S&Z2 AZAY 400,000,000 400,000
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OMNBIA S&ZAFY|(2.5km) 78,722,000 78,722
= 39,375
< 11,804
s 27,543
LI AHFH 7L 8,000 16,000 A 8,000
= 4,000
< 1,200
e 2,800
405 RHoHE S HI 8,000 16,000 A 8,000
= 4,000
< 1,200
i 2,800
01 et EFFHSHI 8,000 16,000 A8,000
OAg& X 8,000,000& = 1CH 8,000
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< 1,200
s 2,800
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= 2,340
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O AIA 692,392
— AL A& A H| (15km)
656,013,000 * 3.27% » 1.1 23,597
— Al & dl| 668,795
- A (Tkm) 409,407,00080 * 1kn 409,407
2 312,954
& 67,062
= 29,391
- Aol & (1km) 134,987,000 * 1km 134,987
2 94,491
= 20,248
= 20,248
- RN 2F(3.0km) 66,619,000 66,619
2 46,633
& 9,993
= 9,993
2l = 5 2= (10.0km) 45,000,000 45,000
= 31,500
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= 6,750
- AFE A H ] 12,782,000 12,782
2 8,948
= 1,917
= 1,917
02 224l 9,941 4,487 5,454
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308 XXM SO0 A 150,664 165,837 A 15,173
05 XXM RES 150,664 165,837 A 15,173
O At AL 150,664
— &EXIARE (1km) 7,290,000& 7,290
— H 22 & (3km) 51,570,000& 51,570
— APEHEH (400 &) 86,583,000 86,583
— At 22 (3 ) 1,890,000 1,890
— AP AN EFEES EOH(40H4A) 1,412,000 1,412
— APEHEH ElES EHOH(4HL) 1,412,000& 1,412
— AP X EZ (1001 A) 189,000 189
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SAUERKIARSAS 2,667,459 1,902,573 764,886
= 30,000
& 210,000
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MEZzH =3 L AIE22 (XHA) 1,067,014 961,703 105,311
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—=XEYIS(ASE) 184,800
ol 24| 60,000& = 10 = 280¢ 168,000
FL2RE 60,000& = 10Y = 28¢ 16,800
—4d2E= 242,241,000& = 0.103 24,951
—HHAdHEER 15,000,000& 15,000
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- OHEER FY(Z, AEL F)
30,000& * 24N E 720
- Ot R 55,0003 * 24= 1,320
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JIAEER 18 7Y 20,000& = 504 1,000
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— AR AL EIIX SAH
6,000& = 5009 3,000
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—2AD[(+=5014, It 2 5)
500,000& = 1CH = 10 5,000
—E¥ S(+=8=2%, JI¢xd &)
400,000& * 104 = 10 4,000
—s=(x2Zx5 2F0I)
400,000 = 20 = 1CH 8,000
—3ditEs dH)
500,000& * 104 = 10 5,000
—HAIGE 2lA (R Y FBHS#S)
900,000& = 2CH = 123 21,600
02 2322l 52,174 42,200 9,974
O332= & HA 9,600
—&g8I132x8 ez
400,000& = 123 4,800
— e8I =HUHSH IS
400,000 * 12 4,800
oozl 42,574
—=X&H ASEH 2T 24,341
- STHIFAM DI
1,789& = 104 » 304 =+ 100 5,367
-JIAE, NS
1,962 » 10CH = 4AI2F = 1002 7,848
- WFI 1,962 * 10CH » 4AI2F » 100 7,848
- 3201
1,789& » 10H * 4Al2F » 20 = 50 716
2=J 2 22D
1,962 = 500 * 4A12t » 50 1,962
AR WE 4,000 * 3004 * 5= 600
—=XZ3HNEREFU 18,233




SN FSAYD
NPT

M gENAYsRY
@2 sXNHERAIRSAME (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
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- AX QAW E 35,0003 = 43| = 5CH 700
202 O4dl 9,600 9,600 0
01 = LH o4 4l 9,600 9,600 0

O=sAZIAMY R2FA

20,0009 * 4% x 102 * 128 9,600
206 T 2 H 58,878 85,272 NA26,394
01 24l 58,878 85,272 NA26,394
OZEZEEINRI XM 8,978
— = 5H0HTH 78,0009 * 108rA 780
— =32 58,5001 * 108fA 585
— =3H0E 67,0009 * 108t A 670
PN E =1 = 35,0009 = 102tA 350
— D2t 5,0008 * 1002 500
—EH 27,5009 = 202 550
—#2 28,600 * 58tA 143
— DXt 90,0008 = 1074 900
— ™ Xt 50,0001 = 109H 500
= 70,0008 = 1074 700
—ZBANES(EN) gREE
66,0002 * 505 3,300
OJz4 4 =dAd 46,400
— Sl SUH AH(EASH, E=H S)
15,0009 * 300% * 53 22,500
- X248 2 2 gAH
12,0009 * 250 33 9,000
— 22 2 Z5EH(MEH)
9,900 = 1,000 9,900
-2 =M 10,0009 * 500% 5,000
O=2 == el X 3,500
— &2 dils 28| 5,000 * 500H 2,500
—SHYX AEH 2,0008 * 500H 1,000
401 Al HI 2 2 0HH| 584,005 375,000 209,005
01 Al&HI 584,005 375,000 209,005
OX68s 222 HAR XH22 7Y
10,0000 = 3,000= 30,000
OZEZYTLALI SR (24 6632
THAMLR 151004, Z2LZRS A 40kn) 524,005
— A AIZ2HHl 500,000,0008 * 3.71% * 1.1 20,405
— A& 500,000,000 * 14! 500,000
— Al&Z=20yl 500,000,000% * 0.72% 3,600
ORIZ2HFY 24 B2 L BAAY
30,000,000 30,000
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405 At&tE =HI 6,500 23,000 A 16,500
01 ML ESFHSH 6,500 23,000 A 16,500
OJlAs 7 500,000& * 3CH 1,500
Os"uHI 7 400,000& » 504 2,000
OF=1=-IPNE= 500,000& * 2CH 1,000
Oosg &=+ 500,000& * 204 1,000
OosgddI| 500,000& * 2CH 1,000
MaxH =35 2 AERZ2(EX) 250,000 193,000 57,000
= 75,000
= 175,000
401 AIEHIZ S CHYI 250,000 193,000 57,000
= 75,000
= 175,000
01 AlZHI 250,000 193,000 57,000
Odgx=8 =35 & A=2te 100,000,000 100,000
< 30,000
= 70,000
Ocdx ISl € AZJRL(BEHX =
8 SAxH) 150,000,000 150,000
& 45,000
Ea 105,000
dHxd 132,000 157,000 225,000
203 R =& 2,000 2,000 0
03 AT =AY 2,000 2,000 0
OFEFEINPIIAMY =& 200,000& * 103 2,000
401 Al HI L 2 THHI 130,000 155,000 £25,000
01 A€ dl 130,000 155,000 A 25,000
OltSdHIHE (35 YE)
10,000,000 * 109K & 100,000
ontsgl 2 1,000,000& * 3004 A 30,000
22 - 23 =4 381,940 212,700 169,240
101 @l H] 149,240 0 149,240
04 D12 RZ22TS2=+ 149,240 0 149,240
OZZ 234 AZ22(2)
38,880 » 159 * 120 69,984
ORZ , Z234& At=2t
38,880& » 29 * 14JHESH » 60 65,319
o428 = 135,302,400& = 0.103 13,937
206 T 24 7,700 0 7,700
01 M= dl 7,700 0 7,700
OZZZEE ZNFL(ITLZAQ 5F)
7,700& * 1,000kg 7,700




Iz 4

pal
o

m
o
=

Im rdo g

- =

o g

st

ARFAY

o 0 1

(o
H-H2 - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
401 AlEHIZL £ 0HY| 225,000 212,700 12,300
01 Al&H| 225,000 212,700 12,300
S-H 224 (14ISHMEE)
10,000,000& * 1401SH 140,000
O (2L XH)- HHAZ22AY
10,000,000 = 1JH 2 10,000
OQuUuEHS ZaShX M (3MA)
2,500,000 * 50 * 4H B 50,000
Odtzd 5 Z32 WH  250,000& = 1004 25,000
SAHMAXN SMHSHX =4 356,505 178,170 178,335
101 21214| 64,327 40,470 23,857
04 JIZtHIZ22XNSEES 64,327 40,470 23,857
OSFTMEX ALZ= 22| 64,327
— ol d]| 38,880& * 30¥ % 50 58,320
—4Eg = 58,320,000& = 0.103 6,007
201 et | 13,418 7,700 5,718
02 2% | 13,418 7,700 5,718
O 24| 13,418
—SHSX2cE EHH FF7U
13,418,000& 13,418
401 AlEHIZ £ 0HY| 160,000 130,000 30,000
01 Al&H| 160,000 130,000 30,000
O8MeX X4 (60ha) 160,000
—SMME SHINL(Sou ) AFY(60ha)
500,000& =* 60ha 30,000
—CHX AFE 2| (HIZ ElH &4EZE)
1,000,000 * 60ha 60,000
—CXl HO MAIANAE &5 Y AHH|
30,000,000& * 14! 30,000
—CXl SEse XA (A=1,000m)
10,000,000& = 14! 10,000
— X2 XM (A=1,500m")
10,000,000& * 3JH A 30,000
405 KHoHFE S HI 118,760 0 118,760
01 JHMHE 2 E F S H 118,760 0 118,760
OSMEX &2ls JH| 118,760
— EEEH(1050+) 98,200,000 * 1CH 98,200
— EdEE SIMED| 14,560,000& = 1CH 14,560
— EdEEZ ZEHHIOIE 6,000,000& * 1CH 6,000
HESAZMBAtT N 480,000 200,000 280,000
= 30,000
2 210,000
= 72,000
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= 30,000
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01 A& HI 477,116 198,634 278,482
OZA =M T4 (2.0ha) 417,116
— & Al E A 16,355, 000& 16,355
— A& H| 400,761,000& 400,761
= 210,000
= 63,000
fia 127,761
QoM (st=)xH 60,000,000& * 1JH A 60,000
= 30,000
< 9,000
i 21,000
03 Al =2 THHI 2,884 1,366 1,518
OZANsMEH =4 400,484,000& = 0.72% 2,884
FeA=2e 173,710 1,003,600 829,890
Ad=2e 173,710 1,003,600 A 829,890
AE=HF AA S 169,710 858,600 A 688,890
201 Lt 63,630 43,900 19,730
01 At 22l 8l 63,630 43,900 19,730
Oget=&H| 55,930
—A=50t EEXZAL & ALY =2
30,000& = 180A 5,400
—ANSSUSEEIA L AU =2 39,430
- 1,000m" O] ¢ 219,000& = 90A 19,710
- 3,000m O] 2+ 365,000& = 40A 14,600
- 5,000m" O] 2t 512,000& = 10A 5,120
~AS20E Fol 4288 7Y
300,000& = 23l 600
—d=gHAE Y 100,000& * 5& 500
— o - GIJtHA X GOt e Y2hE HA
10,000, 000& 10,000
O2g+g 7,700
—AEAS +Z 70,0008 * 15% x 23] 2,100
— 2YNAATRS S
70,000& = 10¥ = 63l 4,200
—SSFHALYYYRARE =
70,0003 = 10¥ = 23l 1,400
202 Odl 15,080 13,100 1,980
01 =2 LHA YI 15,080 13,100 1,980
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